EARAROBEEIERT — 2 N— IBISH —F

2013548218 (B) SEI=#R2H

R EEEXY

REEFI

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (A) 18000 B

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 < o3 | JIEEHE 1:48.1 5-3 35.5| 85.6 | 2 498 | ANFE (RR)
117115 VI A N < 56.0 5 Lo | mEm
L:wiNyBLHTr BTAV—2XN—h HAS
# 3 | M. FL-0O 1:48.2 11-9 35.1| 84.5 | 1 472 | BEFE (ER)
ARIRR L Z 56.0 (1/2) () |TEERT
L:F=TA2NT 8 B:JL—XT7RvAY¥ J—HrTp—L
T 4 3 | AEEZ 1:48.2 7-7 35.4| 84.6 | 4 472 | PHH (BR)
s IvF—7T 56.0 t) tie) | SEKAE
RZAZHNT1Zy 7R B:hHXTadt— pixatie]
o o AAILBATE : - Rt (FEXR)
4 4| FIARFI—E 3 e (17.4;3) 10-9 35.0 | 84.5 | 12 ?5? une
R:TTRRAFLL BTy I—Pv—Oy b R ERE
e 4 3 | dtRER— 1:48.8 1-1 37.6| 79.6 | 15 | 478 |EKHE (R®)
5 g|F>7 56.0 (3 1/2) (-2) ;{}Ilﬁﬁﬁ
R:vavrrhe7 BAArO—-X B &HE
_ . 4 3 | JISfE= 1:48.9 1312 [35.4| 775 | 18 | 412 |BXHE (ER)
6/8l16| E— NI 56.0 (7€ (-6) | PUEEEEF
XL THhANAN B:Y—ZT2R #stt /—Xex
= 5 s 3 | JIERE 1:49.0 7-4 36.4|76.9 | 6 412 | BER— (EX)
70713/ 7 1A X~ 54.0 (3/4) 46) | ) FroubTr—oL
RTw S INEry b BT RYAYAH R =Ty —I
# 3 | ESEN :49.0 13-14 | 35.4| 76.5 | 9 506 | Mg (RR)
gl1lo| MBI —F1 5.0 () (Ca) | HER
RiF A HE— BRI KRE— ZRAT 7 — L
S H_5 . # 3 | ERH 1:49.2 4-4 36.6| 75.1 | 7 464 | SEHEBR (ER)
91510 TH=FAF > 56.0 1) -2) EH’T’%‘:
R:T7HIFLAY BIVHIRE EEla-$2 vy
=N # 3 | AHEEHR 1:49.4 16-16 [ 35.6 | 72.4 | 11 466 | HHEZ (RR)
Eﬂm ALZINZ 56.0 ) (g |H H YI17-ENAK
f:Authorized B:¥a—LL A b H—L— - JvIN> - T7— LERS
5O — 4 3 | BUR—EB 1:49.5 13-12 [36.1| 71.7 | 17 | 454 |FEHEMWES (FX)
1118l18| 7+ —%—70-L 56.0 (3/4) (ay | LER—
v TNVRry b Bt —42—-ITF > RAREHIS
S o 4 3 | EPR 1:49.8 17-17 34.6| 68.1 | 5 466 | EHMF (ER)
12|59 | VF =YV T —F 56.0 (1 3/) () |BHEE
L:T7TxxXa%AL BANTL)—ULY HET7—L
s g o AR LE7S 149. - . . EEEA (ER)
SENLOYTH % 3 512_0 1(;9633 6-8 36.9| 69.6 | 8 42(1))2 ;’;:E;gn
LT R4 YA BVHFNTTES hAt HER
> = 5 4 3 | BHP 1:49.9 2-2 37.7] 69.5 | 10 | 484 |FEEELEH (R®)
X42agA=Ix 56.0 (%) (1a) | AT
AN WG4 =T BENAINZF v — =e)

S 4 3 | BEE 1:50.5 7-9 37.5| 63.7 | 16 478 | SEHE— (ER)
hOTATATZ b 54.0 3 1/2) Gy | FHEE
LTIRAFYaI B:IUETAYRAN ITEILTERI AN
LYY 4 3 ;’Jéﬂ%k 1:50.7 1-14 | 37.2| 61.4 | 14 | 436 %E?ﬁ (E=)

. . (11/4) +2) !
L:T7 RIS Y L—> B:FZ—ITE-IL Hewis
S D= i3 | AEEN 1:51.9 3-4 39.4| 54.3 | 13 | 506 |FERRIME (W)
YauFivL 54.0 %) 46 | ) 195
L:a4 %0 ML B =73 R>F e
— . N C. ¥4—0O = = = = BEXRE (BX)
Z7)—=NNZ%> I 56.0 (chib) s (4i2) RS
RFA =TT N B:S5TT v =TT MRS
@ 21 L
£y 49.5-36.9
NO>a24 L | 12.5-10.7-11.0-11.8-12.6-12.6-13.0-11.8-12.1
® I—F—&EBIERL
13—7-
23—7F—
== 8=3-5,10,15,7(11,14,13)4(6,1) (18,2,16)12=9 17
Mal=5r= 8=3,15(10,5,13)11,7(4,14,1)-(18,16) (6,2)12=9 17
[ RN
B Oj 15 250/ 794K 1-15 140M & 1-7 210 &R 1-11-15 900F
7 B 15 110M 11-15 510 | | B & 1-15 240/ | | 3=E | 15-1-11 3,180
1 120 1-11 520M B H 15-1 550
1 230M

ABICOVWTRDTEEERROODE. TR LIV,




